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Type: MCQ
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Type: MCQ
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Type: MCQ
Quest Qawellger =, © € {A, v} SGWL. (pxq)@(p ® ~q) aTaTug @(H G ereafle,
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D: 100606
Question
Type: MCQ
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Question
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Type: MCQ
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Type: MCQ
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Type: MCQ
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Type: MCQ
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Question
Type: MCQ
y? = 2x =3 et UreuenemwigHen Wgerer Leraflger P wbmib Q -6fled euenyuwill
Question: | Qumib GsrHCasrhiser R(0, 1) ererp Yeraflufler sphdlsdlemmer. @ UCLTHG
Wp&CareanTd PQR -1 Glgmi@sHg Wb :
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Type: MCQ
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Type: MCQ
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Question
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Question
Type: MCQ
Questi x2+12=1,z=0 etenin cuL_L GSler BgieTem 6@ LeTallE@, 2x + 3y +2z =6 cTemm Hemddl e
uestion:
BaTer 2jq 5G5S SRFSHTL 6THF cuamareuenyy g @)(HS@LD ?
A (6x+5y—12)2+4(3x+7y—8)2=1, z=6—-2x -3y
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(5x+ 6y —12)2+4(3x+5y—9)2=1, z=6—-2x -3y




C: (6x +5y—14)2+9(3x + 5y —7)2=1, z=6—2x — 3y
D: (5x + 6y —14)2+9(3x + 7y —8)2=1, z=6—2x — 3y
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Question ID: | 100617
Question
Type: MCQ
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Item No: 18
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Type: MCQ
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Item No: 24
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Item No: 26
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ype:
X1s Xos X3y ey Xog GTEOTD @LIHEGS CsmiT euflenss@ xy =3 woHmib Cumg eN&lgwn >
Question: | % GWL. YHAWSTES @ SHeud @eauleum p x; -emwiuyd (x;—i)? erer wmh
Quplu@Spg. ¥ eremug LgiSsseualer sl (h& grnaifl erafled, y el @GHenmeurs
VG| FLOLOME 2 6T HFHSHLLF (Lp(Lp ol uiemr
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Item No: 29
Question ID: | 100629
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Topic: Physics-Section A

Item No: 31
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B2
— | -6 UMD MEmTRIGET

Question: Ko
[y : Qeupdlgdler o L L@dlmer B : snbsliLjed erefley]
A: [M L2 T—2]
B: M LT 2
C: [ML-1T2
D: [ML2T-2A1]
Topic: Physics-Section A
Item No: 32
Question 100632
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A: 5m
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Topic: Physics-Section A
Item No: 33
Questi
Do 1100633
Questi
T;Jpees 1on MCQ
@rewr(h eucuCGeum Cargenensafled 5 kg Hlenm Carar em GummeT 25 ms™1
Question. GeussgiLen saufler Gurd wpepmCGui (i) 3 s (i) 5 s CrrRISERSGET @uiay Hlamass
uestion: @J@é}ﬂ)g
Y emeu(meusmeupmier aflwmar ellenLenwsd Csire| Glawis.
A FaSSTHE WwHML Qummear Wg Cewaou@b srrefl fleans @)W
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Topic: Physics-Section A
Item No: 34
Questi
Do 100634
Question
T;pe:I MCQ
e Ligyrer 10 g HlepmienL_w srHenms GlamerT(HeTerg). LIgTer <iiqLiLmdled (mhg
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Item No: 35
Question
D: 100635
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Type: MCQ
Quest LjeSludlerr <,7b 2% < S(HBIGH DG eTelley, Biger Hlenm MMMDE 2 6Targl. Ljels
uestion:
sengdlen Goe 2 arem FLIL| (WPHGSLD :
A: 2% 88 (G LD
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Topic: Physics-Section A
Item No: 36
Question
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Type: MCQ
1 em? gn&El urly Csrar @ swlulear Bardens @Q@p LLBISTS
Question: | Fliglign@s Caemeuipib cllens :
(Y=2x10!! N/m? ereng QamHasiiul_(herers))
A 1x107 N
B: 1.5x107 N
C: 2x107 N
D: 25x107 N
Topic: Physics-Section A
Item No: 37
Question
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smrGerm Quibdlrssler Liwemslimer 50%. Geuliu egnlluder GeuliLiblenay 40°C 2585

Question: | Genp&sUILIWN&E DG eratlcd, Lwenmdmer 30% <25 Sdlsisdng. Ceuliuepessler
Geudublena :
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B: Zahd - K

C: 266.7 K
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Topic: Physics-Section A

Item No: 38

Questi

Do 100638
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&G darhsslul(hearetenal @) FanmSaTTELD :
gapm I: @ poadlweoy wrdiluler @@ epadsmdler srmefl 2 B GeuliL
Blenenw§ gribg 2 eTeng).

Question: | gamml IT: ¢ eumwelled 2 emar ydelaen epessamgaier rms Geusd v 2, @LD.
Geuliubleney @HLLBSTS WIDDLILILL T H6e0M6r eLpe)&an m&eT
seilmear emissarts G fldlarmear. rms Gausd 20 8 WTMHID.

sflwrer ellenLemws Csire| CFlis.
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Item No: 39
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Question: | 1 =0.5 SIDT (400 t— x) m greom Sjenevd FTUTL g6 Benauier HansGousid :

A 200 ]11/5

B: 20072 m/s

C: 400 ]II/S

D: 4002 m/s

Topic: Physics-Section A

Item No: 40

Question

D: 100640

Question

Type: MCQ
geibeirarmbd 40 pF Cs&5@ dpear arawm. @rarw(h WearCaadlaer Cgmm

. G enanTLi9ed @lenamasliLL (heTeTar. enlier @enenTomnm WerCs&E@:S Slme

Question: : : : ; T 1
24 pF <5 wrpory Wearsriy wrhlell K dararL Wblersrliyl Qur@merme
WenGasdlaatler eparm Blrliuiiu’_ (hererg. K -6 &l :

A: 15

B: 25

C: 1.2

D: 3

Topic: Physics-Section A

Item No: 41

Question

D: 100641
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Type: MCQ
R, WengenL Qamam e &b dger CsTL_&5 ﬁmgmg,lj Gumed @)(HLOL IS,

Question: | Berors odlesfssiu@omm deellCu @uasstiu®dng. yHw WlargenL &@b,
Asr_&s WersmL &@b Gen. Guiwner eS&lg 0 :

A: 9:1

B: 1:9




D:

Topic: Physics-Section A

Item No: 42

Question

D: 100642

Question

Type: MCQ
@@ sreeuarmBlLfler WerCGarmlL 2 arie) KL USMG ereueurn S iflEs
Wb ?
(A) sHmISETET cTamenTlEams &enmLILISTe)

Question: | (B) &MHsL Levdeng dl&fllugme
(C) sbls smailer LFlmUS GoDLUILISTED
(D)  s(meTellevalen (pm&E wrledlenwsd @ennLusm
Cummsswonar ellenLenws Csire| QFuis.

A: (B) wmmid (C) wL(hib

B: (©) wHmid (D) wL (R

c: (A) bpmid (C) WL (HLD

D: (B) wmmid (D) wL(hb

Topic: Physics-Section A

Item No: 43

Question
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dlenLsgeng gL an 45° Carandans FHUBHSHID (M eU(LPEU(LPLILITET FTIiSeTs S e
Cuwé 0.45 kg m~! Bor oLr5d Odasrar, @r 2 Corsd gar® ULGSHo
srLuul (herereurm o arengl. Gem@ssrs Guwa Crradlw danguie 0.15 T
smhsLiLewn GtewouBbCurg saramL BHlaownrs aeuliugsn@s GCaameuliLi(hb
Sauriqed L Smin lerGemmLib :

Question:
{Use g =10 m/s?}
B4 Al
45° 1
A: 30 A
B: 15 A
C: 10 A
D: 3 A
Topic: Physics-Section A
Item No: 44
Question ID: | 100644
Question
Type: MCQ
(H ML Wlanblensvnd s&mmled ilerGearm L GHlem Fwerum(y I =5 sin(49 wt—30°) A.
Wlanblensoold 30 mH eratled Wlengnenrguilen @m&Gs o drer Wlemen(psssHhamen
Question: FoeTum(h
- e—
T=_ GTell& |
I
A 1.47 sin(49 mt—30°)
B: 1.47 sin(49 1t +60°)
c: 23.1 sin(49 wt—30°)
D: 23.1 sin(49 mt+60°)
Topic: Physics-Section A
Item No: 45
Question 100645
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Type: oS
uLgdled sriL il (hererg Gumew @new(h cerlgsmhiseter eudlwimg Ceemm e
geatluler flensGousid v, :
(c=3x10% ms-! arard QarhHdasLiu’_(HaTerg))
Question: | A+ [Medium 1| Medium 2
pe=1 up=1
=4 €=9
€ | vy vy
A: 1.0 x 108 ms-1
B: 0.5x 108 ms-1
C: 1.5x 108 ms-1
D: 3.0x10% ms-1!
Topic: Physics-Section A
Item No: 46
Question
D: 100646
Question
Type: MCQ
QemiEsg slbsugdla paflallagd GgraaCrradlsE Cummen(mE@ Cleaemad L
Quest serent (& Cearas@h @alCu o eter graneey 30 cm. CgrapeGrrédlulen
estion:
- Camenr 2 mUGLUMMESHD 2 & o arenCGurg CummermaE Geverdler @ellw
dsrenevey :
A: 20 cm
B: 30 cm
C: 10 cm
D: 15 cm
Topic: Physics-Section A
Item No: 47
Question
D: 100647
Question MCQ
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Q@ TS Tralen g LIrTll j6ne ﬁmg,mg,a STETUSD & N = Tnm GT 6uTM

FweaTUM L LWTUHSS (PplgLjbd. @bSHF FSTLM g6 x Tangd GDIsHng ?
@mE  m=eslyraiear Hlen

Question:

P=ceredL_pmesilen 2 bgLd

K=ceresLl yreflen QUIss ,mmed

V=t prayssrear (phé@eilsgn Wenanpssn Geural safled
A VmK
B: JI?
C: \/Iz
D: ,hj’
Topic: Physics-Section A
Iltem No: 48
Question
D: 100648
Question
Type: MCQ

@ sSHMwssl dummellar Dy WL ST 60 BreTser. Fen CSTL&5
Question: 7
Blenmudlen 3 LLEEG faganesn@ Thégd Camear@enn CrI :

A: 120 mrerger
B: 130 mrerger
C: 180 mrerger
D: 20 BrETSET
Topic: Physics-Section A
Iltem No: 49
Question ID: 100649

Question Type: | MCQ

Question:

Yemeu(mld UL Bigatled @il Wlarsaddler FmrndweLser :




A:
v »
I‘
B: ) if
I
C:
5
I 'y
D: . / c
( %

Topic: Physics-Section A
Iltem No: 50
Question
ID: 100650
Question
Type: MCQ
Question eiga uanGupm Blaspeilad Quliemus selliiugh@ LaTCLDD 6T (1) eTeueumm

uestion:

@(m&s Geuarr(Hid ?

A: L =<1
B: =1
C: M — 2
D: = U




Topic:

Physics-Section B

Item No: 51

Question

D: 100651

1Q_ue§tion Numeric Answer

ype:
2 g oy 8 s ¥ E o SihES) A - ’

Question: i +2j +ak DG 2i +4j -2k -an aip&s & erafler o -ar wHlLL
U5 @ (HEHGLD.

Topic: Physics-Section B

Item No: 52

Question

D: 100652

.IQ.ueS_tion Numeric Answer

ype:
2 wantlger 30 HSlL_ e ey |l sren berar LHgsrs summssiiul L em

Quest s8MWEs ppeld SepwdleEsiul L urgsriy wi L ssler 64 wLmE Cdabley

uestion:

QarawL s ireiFas CeuafludBEng. wenfl Amiw CrrsdnEl Yng
sSflwss ppeggLen LngsTiLng GCeuened GlFwiw (wLpigLb.

Topic: Physics-Section B

Item No: 53

Question

D: 100653

_?;pees:tion Numeric Answer
@@ wh @rieLl Weteys Cergenaruiled, em 560 nm CGeam gafl 7.2 mm
@ e Geuafl Qaramr CgrLrgdlwurer Guredle] auflgerts e GmaSEL(H el eusms

Question: | 2 (Heurd@GEmg. 8.1 mm s b CsmarL Ggrréflwrear Cursile] auflaGerm(H
@M GnsELH cugasans o (haursGausnE sHCurgy @rarLreg eeafl
LwetuhE gl @rerrLmeug geafluller ojeneberid nm.

Topic: Physics-Section B

Item No: 54

Question

D: 100654

Question

Type:

Numeric Answer




@@ LCR Qgmi apled WenCGarmL eids igem GLh bl e L oLkss

4
Question: - : ) oo o \/_ e
rmb Bleneuile dibleuamaer 212 rad s~! wHmb 232 rad s~ Y@L, HHHl6D
2 arer WlemgenL 5 . WlenEmdlev 2 emear G L6 nenr 60 6Tegr mH.
Topic: Physics-Section B
Item No: 55
Question
D: 100655
_?;pees:tion Numeric Answer
uLgHle srigujarareumrm 20 Q WeargeLwwb 300 cm Barapd Gameawr 6 (m
Wemen(pdsoneis &bl Wlergen L Guliy (RB) 4 V Wlenafllwée edlleng GlamemrL
@(m Usr Wensob wfuenCorh Qeaarssliubhdng. 20 V basassnE
siflifleneols Lerafl 60 cm erens smemrliL(BEng. R -@er &l Q.
Question: 4V R
——RB—
A B
—©
20 mV
Topic: Physics-Section B
Item No: 56
Question
D: 100656
_Crlue§tion Numeric Answer
ype:
1.2x10-30 Cm wpmb 2.4x10-30 Cm HmluysHpearser CsrarL @) rear®H
Wler@mpenaiser pannGuw 5x10* NC -1 wpmibd 15x 104 NC -1 Qgfleysser GlamagrL
Quest @ e QeueuCGoumy Fymenr Weryomsaid ameussiiu@Slearmer. Wer @
uestion:
pemansermed 2 arrluphin Gumw Sl efleagsatler aldlsb 2 G, x -6
X
S 5
Topic: Physics-Section B
Item No: 57
Question | 100657

ID:




Question

Numeric Answer

Type:
320 Hz o dliGleuenr ©&meur Qe erpuilib e Ggmfreuemry 36 km/h
SleangCousgdlev e @erenn Coradl @Qunidls Cererymadng. Ggmreuerig
Question: | @L(HBErTe® @Garmlalmbg eumb @f adddrred Caslslubhdng erefled
ardQrmedlufien HlirGleuar __ Hz o5 @m&En. sthoe gadluder
SlensGeussd 330 ms- 1L,
Topic: Physics-Section B
Item No: 58
Question
D: 100658
_I(?;pees:tion Numeric Answer
1750 kg m~3 oLigd Caram ¢ samysalear euflums 0.35 cms-! aiggddlea 2 mm
Question: | el LD QamewT p(h HTHME GWILD Fmes Cubewpwydlpg. saraedem Lmdwe
GT 6wt poise. (armhlen LTHH Lnssamilassd $a655MELWD)
Topic: Physics-Section B
Item No: 59
Question
D: 100659
?ues.tion Numeric Answer
ype:
m flenm Carewr e(m sSLenl (ULl smiguieurm) E @QW&s ,mmeL 6T 6(h
s(metellevenev 25 cm WHTanwesE WPSGEDG. A er GCeusd @)(HOLHISTS
wrpoliL@LéLTg uwerURSSLULLL Fmareilevedler smer wrhell nE Nm-!
b. n=
Question: =0
—E
m
Smooth surface
Topic: Physics-Section B
Item No: 60
Question
D: 100660
Question

Type:

Numeric Answer




epeubleurammid ‘M’ Blenmuybd ‘a” el pd @aTeanrL Bren@, 585 S_(H&H6T LL S5l

sriiquelrm s suul(ererar. OO0 -mu upHlu enwliler Hlepens

SmLLsS mes iMa2 eTauled ¥ -6 Lo LIL G LD.
TO
Question:
10
Topic: Chemistry-Section A
Item No: 61
Question ID: | 100661
Question
Type: MCQ
Question: | SLDHEHTL FaHMIFETV SEUDTET FaDM) 6TH ?
N Cumr M9 eTamLg) 2emidbsmellanar &HmlLeTar 6 eul L LILITeng g6
' eTeLiment &Ml eu(HEmG.
B: 62(1h @I 6(H TN GTETLIG| 62(Th GTUSLJTET DenV& FmiL] ()
c. Curr >yl ser o aterg eraLiang enanl rsmer Hlmwrana Gg mermmse
| 2 DSUGSS S
o Slan TN red GeuremL b eraorseT n wHMWD 1 I HGw ©lemeiwr(h
' cuamsLILI(hSsUMH S D).
Topic: Chemistry-Section A
Item No: 62
Question ID: | 100662




Question Type: | MCQ

Question: SpsarL gwetur(hsafler eflwupma erg ?
A: AH = AU-PAV
B: AU =q+W
C: AS ; o o )
jenLo L &M UL miD
D: AG=AH-TAS
Topic: Chemistry-Section A
Item No: 63
Questi
Do 1100663
Questi
T;pees 1on MCQ
Asr@d - I & Asn@d - I 2 L6 QuT(mHEa)s.
CgrEdl -1 CasrEg - II
(A) Cd(s) + 2Ni(OH)3(s) = CdO(s) + 2Ni(OH),(s) + H,O() (I)  (psenenio
WlemCFOILIL] SevLD
(B) Zn(Hg) + HgO(s) - ZnO(s) + Hg(l) ()  glenewr Wlé
Gy sever
safled LOleo
Question: @n&&LD
(C) 2PbSOy4(s) + 2H,O(l) = Pb(s) + PbO,(s) + 2H,S0,(aq) (I) erflQuim(mar
O 6T&H VLD
(D)  2Hj(g) + Oz(g) = 2H,0(1) (IV) gienamr Loleor
Calilliy seve
satley LOleor
T HDLD
EC sruul L e salla® @Qmbg sflwner allenLamws CoTHESHESLD
A: (A) - (0, (B) - (W), (©) - (1), (D) - (IV)
B: (A) - (IV), (B) - (I), (©) - (1), (D) - (1)
C: (A) - 1), (B) - (@), (© - (1V), (D) - (1)




o (A) - (I, (B) - (1), (O) - (I1I), (D) - (IV)
Topic: Chemistry-Section A
Iltem No: 64
Question | 400664
_?;pees:tion MCQ
Asr@dl - 1 g Aen@d - I o_L_er QummEs)s.
AarEd -1 CsmEdl - 11
cSlen eotg 6T ellen e &Sl
(A) 4NH;z(g) + 50,(g) = 4NO(g) + 6H,O(g) () NO(g)
_ (B) No(g) + 3H,(g) > 2NHs(g) (I)  HyS0,(0)
Question:
(C)  C1pHpOqq(aq) + HyO(l) - CgH1pO0g + CgH1204 (IT) Pt(s)
@end Careav s GLmen
(D) 250,(g) + Oa(g) = 2503 (g) ) (IV) Fe(s)
ECp sruul(erer eaumilysefles @@mbgE WDseyb sAurear Qear®Dd
Complsh&Esa|b
A: (A) - (1), (B) - 1I), (C) - (1), (D) - (IV)
5 (A) - (11T, (B) - (11), (©) - (D), (D) - (IV)
C: (A) - (1), (B) - (IV), (C) - (1), (D) - (I)
D: (A) - (1), (B) - (1I), (C) - (IV), (D) - (I)
Topic: Chemistry-Section A
Iltem No: 65
Question | 100665
Question MCQ

Type:




&0 Gam@ssiul (erer saflwmgsailear @amansafles @iz g S Lss0 L
FLOTET eTe&L e ermL erangmeldenwt Clgmam(herareney.
(A) Rb wmmib Cs

Question: | (B) Na wpmib K
(C) Ar wpmib Kr
(D) IwoHmib At
gilwurer ellenLemwis Caibllshesen.
A: (A) wHmid (B) WL (LD
B: (B) wmmid (C) L_(hLD
C: (A) bpmib (C) WL (HLd
D: (C) wHmid (D) wL_(hibd
Topic: Chemistry-Section A
Item No: 66
Questi
Do 1100666
Questi
T;Jpees 1on MCQ
Question: SpsarL alamarsafler org Ceaudldspalgd wpanuile Frgamey LTNGS
reston LwetL(hSSLLIHEDE ?
A: 2(:1125 + 3‘0‘2 —)2(:1120 + 2502
B: Fe;O4 + CO — 3FeO + CO,
C: Al,O5 + 2NaOH + 3H,O — 2Na[Al(OH),]
D: Al,O5 + 6Mg — 6MgO + 4Al
Topic: Chemistry-Section A
Item No: 67
Questi
Dot 100667
Question |1~

Type:




Farmigen (panpuiled siger Beny, Cwearamrs wrHmw Curg o (haurgh 2 Cars

Question: . i
2 _LIL|SET :

A: Ca(OH), LDﬁ)g]JLb Mg(OH),

B: CaCO, LDﬂ)g}JLh Mg(OH),

C: Ca(OH), LDIj)QJLb MgCO,

D: CaCO, LDH')QJLb MgCO,

Topic: Chemistry-Section A

Item No: 68

Question ID: | 100668

Questi

TyupeeS on MCQ

Question: | SLpFewTL Fapmsafley seummeng) erg ?

A: Biilev LiF -607 Genmbg SenrHmenid @ STraurld g6 &mnhs BCrnm erengmeid

B: KO, unpmanbssSemento (ol merL_g|

c. Slreu Cwralwurede 2 drer Gorguib 2 Caorssd smrsa WITETTSMS
' LS| LD.

5. Gamgqwid 2 Coorabd Gur_Lrflwb o Congsamasd SMigaibd AHS LTG5
' Q& TesTLg).

Topic: Chemistry-Section A

Item No: 69

Questi

Do 100669

Question MCQ

Type:




dsr@d - 1 g er@g - I o_L_er QUm(mHEs)s.

QarEd -1 CsmEs - 11
(A)  (NHy),Cr,07 —2— @ H
| (B) KMnO, + HCI — (M) N,
Question:
(C) Al+ NaOH + H,0 — () O,
(D) NaNO, —2- (IV) Cl,
ECp sriul@erer olewLsaflles Q@mbEH Wseyd sflurer paransd
CambllshH&ésa
A (A) - (1), (B) - (1), (C) - (), (D) - (IV)
B: (A) - (), (B) - (1), (©) - (IV), (D) - (II)
c: (A) - (1), (B) - (IV), (©) - (D), (D) - (1)
D: (A) - (L), (B) - (IV), (C) - (1), (D) - (1)
Topic: Chemistry-Section A
Item No: 70
Questi
Dot 1100670
Questi
T;pees: ion | vica
. SpsarL by 2 Camsd saflo <jlensatd H, -ameu deuallGupmeidled @ammbs
Question: . .
Slmerr ClsraorLg ?
A: Cu
B: Mn
C: Ni
D: n
Topic: Chemistry-Section A
Item No: 71
Questi
Do 1100671
Question MCQ

Type:




EC @raw(h FmpmiseT Sl (heTaTer.

gamm I: r&ulL Bifle senrhgierer <y dadleer <eare] wHmid BOD wélliLy
@ram(H W&s @Gammey.
Question: | gamm II: pgICUTg erem Hlapey, Bifler senybgierer <y &eilner e6mey
Gmpeusne HuhEmg|.
&G sruul@erer eumiliysefler @mhg Wsab QuTmsswrear elleLamwd
Cambols(HEs6, .
A: gam I omibd sgpm I @rer(Hid &l
B: gam I omb sgnm I @rear(hbd seum)
C: gamm I &M erme sgmmnm I eum)
D: gam I seum 2 emmed samm I sl
Topic: Chemistry-Section A
Item No: 72
Question | 490672
Questi
T;Ipees on MCQ
Asr@dl - 1 g Cer@s - I o_L_er Qum(mEs)s.
QarEd -1 AsmEd - 11
(A) )  eveouGrm CambLD
Question:

(III) &wgeT SHWLULDDH LIQQEH 6UMETLIF

Gamo

(IV) eouessells (Qrie eueerwid GamOLD)

(B) >ﬂ>< () <CGrmwomiigs Camowb

&Cp sruul@erer ollevLsafler @Q@pba Wasejbd sflurer qearond
Cambllg(HEsa|L :




A: (A) - (1), (B) - @), (©) - (IV), (D) - (1)
B: (A) - (IV), (B) - (I1I), (C) - (I), (D) - (1)
C: (A) - (), (B) - (IV), (C) - (), (D) - (IT)
o (A) - V), (B) - (1D, (O) - (I1), (D) - ()
Topic: Chemistry-Section A
Item No: 73
Question ID: | 100673
Questi
T;pees 1on MCQ
SpsarL eflenar updlw sfluner smpennsd CamHblsHES6LD.
e (OA)
Question: BH Hg(OAc or HZO
H,0,/0H | NaBH,
CH,

A: A wpmid B @reor(hd wrrGsneails allenerbl LimrmLger
. A em wrisGsrafllam ellemerblLmmer yamed B em et omrGameilgmL

' clllenerl L m(me
C: A womid B @iga@r(hib erdli wrrGarealams allenerLimmrser
o B e wriGarafllsrl ellenerGummer whmib A e erdli wriCsmelsmi

' clllen e Lim(meT.
Topic: Chemistry-Section A
Item No: 74
Question | 400674
Questi
T;]pees on MCQ
Question: ECp asriLldul@earer Caromseld uGasmgl@h sricdul @drer

HGprmlLrengafled erg) Germhs pK, wdlemull GupblméeEn ?




A:
H,C - COOH
H O
B: |l
H
&
C: HE'
O
H
OH
D: (
O
Topic: Chemistry-Section A
Iltem No: 75
Questi
Do 100675
Question MCQ

Type:




Question:

SpsarL eflenans Qg,rrl_rﬂsb 2 (meum@Ld eflenerCummLs6T A HmILD B eremLie :

1) CH,CHCH,, AICI
8 : 3 Na,Cr,0,/H,S0,

@2 > P » A
(3)H , H,O ; S .1

Br, in CS, adleb o_éirem

®

P

OH

LOMHMILD

@

Br

OH

@

0
5 -

Br




0 OH

Br Br
c LOM MILD
O Br
OH
OH Br By
D:
LOMMILD

Br
Topic: Chemistry-Section A
Item No: 76
Question ID: | 100676
Questi
T;Jpees on MCQ

&0 Car@ssliulRerer wrHmL UOHOIW FHWLTRT smbnmn 6Tg ?
C,H-ONa
Question: CHS — CH2 = CH2 = CH = CH3 3 + B
@blq i GH;OH pgeneno  @enmeumen
(CHs)s cSlener allenerlLim(meir

Clummer

N A - CH,CH,CH=CH-CH,, B - CH,CH,CH,CH = CH,, Qsui’ &L

aﬂ]mm@un@mmm




A - CH,CH,CH=CH-CH,, B - CH,CH,CH,CH

CH,, ammLliwes

B: .
edlen el Lim(meTaer
. A - CH,CH,CH,CH=CH, B - CH,CH,CH = CHCH,, ammlinar
' ellen el Lim(meTa e
N A - CH,CH,CH,CH=CH, B - CH,CH,CH = CHCH, Qsul’ &l
' elllen e LIm(meETSH 6T
Topic: Chemistry-Section A
Iltem No: 77
Question ID: | 100677
Question
Type: MCQ
Question: | &LpaeRTL creupilan @mids allenar eped GlLmeder LiewLy GupliuGi&mng ?
A: r&Ggar-1, 2-enLwme womid Guerder-1, 3 el sTTLMGSH60E ojLdleid
B: HrlGuenr-1, 2-enLwimed wHmbd Guender-1, 4 el sriUTESHedld ojbleid
C: r&Cgen-1, 2-enLwimed O Cluemder-1, 4 enLsriunssledld juleubd
D: & Cen-1, 2-enLwimed oMb Cueder-1, 2 evLsriunssledld julevbd
Topic: Chemistry-Section A
Iltem No: 78
Question ID: | 100678
Question MCQ

Type:




anagetls ClapdladliLm X -ear sflwnrear enLipGanmen iepoLIL] 6Tg ?

HO — (l: —-H
HO—?—H )
Question: H-C-0OH
|
HO — (|: —H
Y
CHZOH
(X)
HO —
OH
A: OH
HO |
OH
HO —
OH
B: OH
HO |
OH
HO —
C: OH
HO OH

£ —
L




I—IO—I

HO OH
D: OH
OH
Topic: Chemistry-Section A
Item No: 79
Questi
D o 100679
Questi
T;pees: ion | ca
aarendld Fwddlper shHLLTer LHBEL Qur@BLsear upHlu sFmpmsar SC
SrUuC_(heTere.
(A) Gumliigqui@w womw Curiiguill ms sHLULITET D(HBSEISET 2 6TeTen
(B) Qaneu dleriiey ewwbwid wHMWL  Gp mwbwrsalde Yamertlien L
LGS Slermen
Question: | (C) GurliguilLgsss wEmbFGSE, Yp @mwbwursaied sl gHUBHSHID
LD(HBSISHETTGLD.
(D) Curmliiguiler FHULTS WHHSGSHET, dleriey epwilmigeie) senl gHL (hHID
LD(TH B G &HETT(GLD.
ECp Qar@ssuulL armilyseaild @Q@mbg Wsab sflurar parand
CabllshH&sa|b
A: (A), (D) wL(hLd
B: (A), (C) L (HLD
C: (A), (B) wL_(hibd
D: (A), (B), (C) bL(hibd
Topic: Chemistry-Section A
Item No: 80
Question | 100680

ID:




Question

Type: oS
Senm Ceulitblenaouiled CGurenL(h jwefl H,O, 2 L6 eflenari(Bibn elleneruller
llemanGouseile <=y lieliley :

(A) " eruGurgib ySlers sWrMGsLUBD VLTTES SHIFL LWL HSSUILIL
Gouasr(HLd.

(B) eruCGurgyb Gamgquid sGwr FoGuL samrgader Gamey KI -ullen Cadlameud

. ST GQID GHdneurs @Q(HESsHe Geuemt(hib.
Question: (C) Be Hlowd CararPlw 2 L e srevsSlenar @GHsse Couemt(HLb.

(D) Bev Blmid Caremmieusn@ (et sreddlenan @Mlés Cou e (HLb.

(E) eruGumrgb Gemgwibd sGwr geoGuiger deMeneu, KI -uder Gamdeneus
ST gD AS&LTES aneuds Geuamr(hLb.

&G arhissliul (Herer eumliliysefles @mbg Weab Fflurer alleLmws

Compsh&sa

A: (A), (B), (C) b (hib

B: (A), (D), (E) wL_(hid

C: (D), (E) L (b

D: (A), (B), (E) wL_(hid

Topic: Chemistry-Section B

Item No: 81

Question

D: 100681

1Q_ue§tion Numeric Answer

ype:
ECp Qar®ssiul L elenaruile :
X + Y + 3Z SXYZ,

Question: | @eudauremib ¢ Gure emailed X wHmid Y, 0.05 mol Z o Lar GCarggl XYZ,
erarm Gamwb Gupliu®dng erafler XYZ, -ullen eflenerdser (Slymislev)
(Cer@ssiulLg : X, Y wpmibd Z -a7 jan Hleanpser wpeanmGui 10, 20 womid 30
amu) (eflenL im&lev 2 6mem (Lp(Lp eTevTemlED)

Topic: Chemistry-Section B

Item No:

82




Question

D: 100682
_I(?;pees:tion Numeric Answer
M erenp el QUM meT @ww Saagy Uigsds enlil Clamemr(hererg igen
Questi @(H S@GILlger aflaflby Berd 300 pm. b FafldHenr LiTdH 6.0 g cm 3
uestion: : 2 ) o 5 . ; ; .
erafled 180 g 2 6mem 3bg saflngdler o emer DemissHailer ereummentsHamns
x10%. (eflenL Dym&led 2 eTar (p(Lp GTeuTEmT)
Topic: Chemistry-Section B
Iltem No: 83
Question
D: 100683
?ues.tion Numeric Answer
ype:
EC sriul Herer Gamomigdr [ Swaflgafles LmTrarEsssemeno 6l e eumiler
Question: e ator et 6n g
. ol I +
By, Li;:Cs, C2 ,02 ,02 Lo mLD H82
Topic: Chemistry-Section B
Iltem No: 84
Question
D: 100684
Question .
Type: Numeric Answer
150 g 28195 blevdgiLer 10.2 g Sevaribs bl (CHO,) Caig@n Curg
3igen 2 ambleney (x x10~1) °C erelled Gepmdlng) ereed x -6 LI
Question: | (eflenl_ (p(p eramoremilev)
[Qamr&siur L g) : Kf=3-9 K kg mol ~! »jevammis blegdler Gomert bHlepm =
176 g mol 1]
Topic: Chemistry-Section B
Iltem No: 85
Question
D: 100685
Question

Type:

Numeric Answer




G flé ol (C;H,COOH) -er K, wdlliy 2x107° erafled 0.2 M Gy, M&

Question: | 2iblewd sengaedler pH x10~ L (eflenL =ymaled o aTem (p(Lp eTevTamiley)
[QarH&siulL g : log 2 = 0.30]

Topic: Chemistry-Section B

Item No: 86

Question

D: 100686

?ues.tion Numeric Answer

ype:

EpsaTL (LpFer eund cllenands
A—>B

Question: | gyenreurp smeld 0.3010 BBl LD erafler =ymbu Glehleln@wb, eflener 2 BILOlL_migeT
wpom Qunm Yer 2 drer Cadlelin@mer alldlgwn . (e Symdle
2 GG (LP(LD ETEmTemtley)

Topic: Chemistry-Section B

Item No: 87

Question

D: 100687

?ues.tion Numeric Answer

ype:
ECp Qar@ssuul(hdarer Caneger @& Carwmsalle swger WrwlhH

Question: | eOLIL&GET Ol &meT L6 m e 6TewmTemntl&Eemnds
CIF,, IF,, BrFs, BrF,, L,Cl,, IF;, CIF, CIF;

Topic: Chemistry-Section B

Item No: 88

Question

D: 100688

Question .

Type: Numeric Answer
2ifley 2a1Ls5H MnO3~ -6 alldlss eanse| A HMID B erenn @ resr(h Mg eis:

Question: GCerorisenets smEDNg. A -ewws srligeid B -uler, Mn -afler 2p&eflsCarmm

crewr @Genmae| ereted B -ulem sn&PHF L HGWL STFaRIOTs WD STHS
Smuydmer L BM. (eflenL 2imdled 2 amem (p(Lp eTevremiled)

Topic:

Chemistry-Section B




Item No: 89
Question
D: 100689
_?ues.tion Numeric Answer
ype:
Quest [Cu(en),(SCN),] eresrm eremr(pdl Gamobd & _(Hb HlenevliLis Seenid iSls D ClgmeurL
uestion: . . . i :
wroMwrisafler ereeansans
Topic: Chemistry-Section B
Item No: 90
Question
D: 100690
?ues.tion Numeric Answer
ype:
0.492 g eTenL_ Cgrawr. C, H wpmib O QararL sflng Garngansg (Lp(penoimer
Question: | eTMlSEN&EG 2 L_LUhSGWD Gurg 0.7938 g CO, wHmib 0.4428 g H,O dlenL_&8lmg)

erariled &Gamsdler o arer 2y sedlgailar % GenuwiL




